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2.2, 5l B
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3y [6] [9]4A
GND [7] 8] 4y
3. SIEHES
2.3. Bl
5| o5 ) R 5| 5 o fig
1 1A B N iy 8 4Y Bty
2 1Y Bt vy 9 4A B N ik
3 2A B o N\ iy 10 5Y O i H v
4 2Y A i 11 5A B i N\
5 3A s N\ viig 12 6Y Bty o i
6 3Y H i S v 13 6A AR N it
7 GND ARG 14 Vee FH Y5 iy
2.4, EfiF
TP Langan
nA nY
L H
H L
W H=mHYE  L=KHP
3. HfRME
3.1, WES%H (55 IBC 60134 k5, GND=0)
Z 2 K T s /AN | K
EE%/? EEE Vce -0.5 +7.0
AR N R Ik Vi<-0.5V or Vi>Vee+0.5V - +£20
TR L Tok Vo<-0.5V or Vo>Vce+0.5V — +£20
A v I R s LU Io -0.5V<Vo<Vcc+0.5V — +25
B R e B m IR | Tees TIgnp — +50
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3.2, HEFEMERKMF

Z B4 W 5 WA ST /) Hu Ay TN B
GEVELENE Vee 2.0 5.0 6.0 \Y4
A Vi 0 Vee \Y4
LinfaslsENi Vo 0 — Vee \Y
TAEMEG IR JE Tamb -40 +25 +125 C
Vee=2.0V — — 1000 ns
BN ETHRURBENA | trtf Vee=4.5V — 6.0 500 ns
Vee=6.0V — — 400 ns
3.3, HAHFE
331, ERSH 1 (BAESAME, Tamb=25C, GND=0)
Z B 4 W st moak & 1 o | Y| K| A
Vee=2.0V 1.5 | 12 — \Y%
WANEHTHEE | Vig Vee=4.5V 315 | 2.4 — \Y%
Vee=6.0V 42 | 32 — \%
Vee=2.0V — | 08 | 05 \%
WA E | Vi Vece=4.5V — | 21 |135] V
Vee=6.0V — | 28 | 1.8 \Y%
Vee=2.0V I=-20uA 19 | 20 | — \Y%
VCC:4.5V Io =-20uA 4.4 4.5 - Vv
WliEEFEE | Vo | ViEVREL VL Vee=4.5V [o=-4.0mA | 3.98 | 432 | — \Y%
Vee=6.0V I=-20uA 59 | 60 | — \Y%
Vee=6.0V Ip=-5.2mA 548 | 581 | — \Y%
Vee=2.0V [5=20uA — 0 0.1 \%
Vee=4.5V [5=20uA — 0 0.1 \%
B RHESFHEE | Voo | ViEVig L Vi Voe=4.5V Io=4.0mA — 1015|026 | V
Vee=6.0V [5=20uA — 0 0.1 \Y%
Vee=6.0V [5=5.2mA — 016 ]026] V
i N LR I, Vee=6.0V  Vi= Ve 8 GND — 0.1 | £0.1 | uA
=AIEARERT | loz | Voe=6.0V  Vi=Vy 5L Vip Vo= Ve B GND | — — | £0.5 | uA
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(A A #E, Tamb = -40~+85 °C, GND=0)

Z 4 W 5 Wk & LI B IS N I X 2
Vee=2.0V 15 | — — \%
WANGERAEBEE | Vig Vee=4.5V 315 | — — \Y%
Vee=6.0V 42 | — — \%
Vee=2.0V — — |05 | V
BWAMEHEAERE | Vi Vee=4.5V — — | 135 | VvV
Vee=6.0V — — | 18 | V
Vee=2.0V 15=-20uA 19 | — — \%
Vee=4.5V 15=-20uA 44 | — — \%
e | Vo | ViEViREL Vi Vee=4.5V 1g=-4.0mA 398 | — — \
Vee=6.0V 15=-20uA 59 | — — \%
Vee=6.0V Ip=-52mA | 534 | — — \%
Vee=2.0V 16=20uA — — | 01 \%
Vee=4.5V 16=20uA — — | 01 \%
BHACHESPEE | Voo | ViEVigEL Vi Vcc=4.5V 1=4.0mA — — 1033 | V
Vee=6.0V 16=20uA — — | 01 \%
Vee=6.0V 15=5.2mA — — 1033 | V
i NI FELIAL Ips Vcc=6.0V  Vi= Ve 88 GND — — | £1.0 | uwA
SAMHEIERR | Toz | Vee=6.0V  Vi=Vi L Vi Vo=V BLGND | — — | £50 | uA
RS HLIAE Icco Vee=6.0V Vi =V 8 GND 15=0 — — | 20 | uA
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(AR A #E, Tamb=-40 ~ +125°C, GND=0)

Z B 4 W 5 m R & A B | M K |
VCC:2.0V 1.5 - - A\
BNEHEPHBEE | Vg Voe=4.5V 3.15 | — — \%
Vee=6.0V 42 | — — \%
Vee=2.0V — — 0.5 \Y%
i AR HLP L Vi Vece=4.5V — — 135 | V
VCC:6.0V — - 1.8 Vv
Vee=2.0V Ip=-20uA 19 | — — \%
Vee=4.5V [5=-20uA 44 | — — \%
s ESF R | Vou | VeV B Vi Vee=6.0V I5=-20uA 59 | — — \Y
VCC:4.5V 10:-4.01’1’1A 3.7 - - Vv
Vee=6.0V Ip=-5.2mA 52 | — — \%
Vee=2.0V [5=20uA — — 0.1 \Y%
VCC:4.5V Io=20uA - - 0.1 A\
R HSFHE | Vo | ViEVigEL Vi Vee=6.0V [5=20uA — — 0.1 \Y%
Vee=4.5V Ip=4.0mA — — 0.4 \%
VCC:6.0V 10:521’1’1A - - 04 Vv
i NI R It Vec=6.0V  Vi= Ve 8 GND — — | 1.0 | uA
=AM ERT | oz | Vee=6.0V  Vi=Vi 8L Vi Vo= Ve B GND | — — | £10.0 | uA
A HI Tcco Vee=6.0V Vi =V 8 GND 15=0 — — 40 | uA
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(BrAES A Mg, Tamb=25°C, GND=0, t~t;<6.0ns, C;=50pF, ULE 4. & 5)

R 5 Wk & A I/ MY SN LA
Vee=2.0V — 25 85 ns
nA B nY WHAERERT | tpu/tein Vee=4.5V - 9 17 ns
VCC:6.0V - 7 14 ns
VCCZZ.OV - 19 75 ns
o L B A0 I (1) tran/trom Voe=4.5V — 7 15 ns
Vee=6.0V — 6 13 ns
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(BRAES G E, Tamb=-40~+85°C, GND=0, t=t;<6.0ns, C =50pF, W& 4. [&5)

Z B H W /5 Wk & M R/ J K LA
VCCZZ.OV - - 105 ns
nA 2| nY FHEHIIERT | top/teiy Vec=4.5V — — 21 ns
Vcc=6.0V - — 18 ns
Vee=2.0V - — 95 ns
oy L S A0 N (1) trur/trn Vcc=4.5V - - 19 ns
Vcc:6.0V - - 16 ns
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(BAESHME, Tamb=-40~+125°C, GND=0, t=t;<6.0ns, C;=50pF, WK 4. K 5)
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Vec=2.0V — — 130 ns
nA i” nY E‘Jﬂ%ﬁﬁﬁﬁﬂ“ tPHL/tPLH VCC:4.5V - - 26 ns
VCC:6.0V - - 22 ns
VCCZZ.OV - - 110 ns
iEA'J. l':['_ll %*ﬁ% Hﬂ‘ IEJ tTHL/tTLH VCC:4.5V - - 22 ns
VCC:6.0V - - 19 ns
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5. #HERT 5 EE
5.1. DIP14 E 53 R ~}f
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Symbol Dimensiong In Millimeters Dimensions In Inches
Min Max Min Max

A 3.710 4. 310 0. 146 0.170
A1 0.510 0. 020
A2 3. 200 3. 600 0.126 0.142
B 0.380 0.570 0.015 0. 022
B1 1. 524 (BSC) 0. 060 (BSC)
C 0. 204 0. 360 0. 008 0.014
D 18. 800 19. 200 0. 740 0. 756
E 6. 200 6. 600 0. 244 0. 260
E1 7.320 7.920 0.288 0.312
8 2. 540 (BSC) 0. 100 (BSC)
L 3. 000 3. 600 0.118 0.142
E2 8. 400 9. 000 0. 331 0. 354
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